a
o
o

> 22000 2 500
- =2 L 2 N
(=] L
= O | FAJT0 o) Ut SN I P A o L
£ S
5 I | SRSE RTINS AN S S
A r T > [ o] L L L i
x I g 300 e
I~ L : : : : : : 2 oo : : : : : :
Y 1000 -5 | ST SNUO SORO S N NS SO S
R Bt » I | T e R RN Y e
e || T T | BOO- -+ eef e eeb s ee e e g g © ot i
N . . . . . . . . . . . . . \ N
=10 R b f IR s by v O o AR
100 bbb o Opiuifidfseasseaseamnssssmnmmumtsy P TR AT
£ ] E=T S W (0 O & N E T o R L B E : 5 5
hd 1:— . 4 : o & 2:_ : - -
T S A A SR Foiod .-
D0 =15 =10 -5 10 15 20 510 15 20 Yo =i5=10 10 15 20

Vertex z (cm) Vertex z (cm) Vertex z (cm)
ém TT__CKF_ORIG

M_TT _CKFLowPtT_ORIG
M TT _CKFLowPtT_MODIF

200 H H H H H H H gooo

,_\
a
)

!
y>

SRR I R N S O

<oy > (um) for PV
<

N

: S R
_50:_....-. ......................... PR L
E Obanncpid e ol e e et | WP I

Ratio

Yo=15=10 -5 0 5 10 15 20
Vertex z (cm) Vertex z (cm) Vertex z (cm)

o

...=H

<oz > (um)

a1

o

o
I

<9z > (um) for PV

z > for merged vertices (um)

o
o
o
LI B B B B e

(o)

<l

IEA RS S 1 18 S SN

5]
[a]

SR .-

Ratio
Ratig,

o
3]

0.5

10 15 20 5 10 15 20 5 10 15 20
Vertex z (cm) Vertex z (cm) Vertex z (cm)

I
NP
o

I
AN
[6)]

I
AR
o

I
[6)]

So =15 =165



	Contents
	Page 1


